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PART—A

( Business Mathematics )
( Marks : 32)

1. & fu 2eesne Te fran - 1x3=3

Answer the following questions :

(@) o= wRel fua |

Define matrix.
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(2)

(b) I fx)=x+|x|, B f(-1) Fefg =701
If f(x) = x+|x|, then determine f(-1).
(c) I e F2

What is effective rate of interest?

vﬁ{l 5][3-{{ B, (S2CA xF I [y

0 0| 1] 0 |
Fq0 3
— 1 57[3] T
If [ = - , then determine the
0.01].1 0 |
value of x.
CFIRT 3 2es R Y F90 6

Solve using Cramer’s rule :
2x+y+z=4
xX+y+z=3
x+3y+z=5

531/ Or

29
WA=2 1 2|, o't AL ey a1
2 2 lJ

fA=

N N e

22
1 2|, then determine A™!.
2 1
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(3)

4. 9 R 39 - a8
Find the value of
3x2-12

im — % e
x—2 x-2 %

d? Yy
5. M y=xlogx, ot LY fafy w1 6 |
2
d? /
If y = xlog x, then determine < ¥ . /
dx? /
§2{1/ Or e

2x% ~21x2 +36.x - 20 T T2 AF TEST T
e

Determine the maximum and minimum
values of the function 2x3 -21x2 +36x -20.

6. I o HF S&fm e oy 2 2

What is the difference between simple interest
and compound interest?

7. 9O AR 36,000 T @ WGRE 4% EF 4%%
WW%I6WW®@WW§@
fRo1C1 9 9,240 59 =iicet | w1, R S
yee fafeet 2 4

A man lent ¥ 36,000 to two persons at 4% and
4%% respectively. After 6 years, he received
¥9,240 in all from them as interest. How
much did he lend to each of them?
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(4)

8. TER 6% I T T FAGE RN ARG
- e] 7[R 5

What will be the nominal rate of interest
convertible half-yearly when the effective rate
is 6% p.a.?

o
PART—B

( Business Statistics )
( Marks : 48 )

9. wors Ty FotrE® Tee far 1x5=5

Answer the following as directed :

(@) O 3 TR ToneiREe w e

Name the components of a time series.

(b) I AMEACS ____ [ AT I A
( RTET 31 7[qI 1)
Index number is usually expressed in
form.

( Fill in the gap )

(c) TTTE R A |

Define correlation.
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(5)

(d) ITET G5 R B o

Write one merit of mode.

() I 2x-3y+4=0wF §=6, (503 % By
91

If 2x-3y+4=0, § =6, then determine
X.
10. (a) %37 (b) =] Tex 74 :
Answer either (a) or (b) : »
(@ () o= eyRE o/ R fdfe =1 ;. 3

Determine median from the
following data :

7, 5,6, 8 8,9, 3, 6

(i) w=re fr SURMT @ swms g fAdy

41 5
Determine AM from the following
data :
T[T : 15 25 35 45 55 65
Mid-point
SIS & w10 3 2 4 1 2
Frequency

(iii) R TC 7B 91 @ 2T I @
For any two values, prove that

AM > GM > HM 6
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(6)

3/ Or

(b) () =CH Regae seeerels Ty Wi g2 3

Which measure of dispersion is the
best and why?

(ii) A €O @=AME 500 T FAGRE
WA T 9% 5,000 B
@GR F WE G FRE
RS @ERE T FAS 5,200 T WA
4,200 I @TAMICGR JFY FHRAN
1’ R 2 5
The mean monthly salary of 500
employees of a company is ¥ 5,000.
The mean monthly salaries of male
and female employees are ¥ 5,200
and ¥4,200 respectively. Find the

number of male employees of the
company.

(iii) &=TS fam ST *[1 {69 BIRFT A= FAefq
¥4 6
Determine the coefficient of
variation from the data given below :

a9 : 0-10 10-20 20-30 30-40 40-50
© Marks
BIGT T i 8 13 16 8 5

No. of students
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(7)

11. (a) 5237 (b) W Beq 79 -
Answer either (a) or (b) :
(@ (i wﬁﬁwwm@msf{%mﬁs
I ? W AR 32 2+1=3

What is Karl Pearson’s coefficient of
correlation? What is its range?

(i) S5 frar eyRFT Y@ @ BEY L
BIMF T el 7y 5

Determine the coefficient of rank
correlation from the following data :

X : 60 64 68 72 76 80
38 52 54 66 359 73

(@) ==Ts T uRM o/ STpger Seae
EBT@'%T\SET s 7

From the following data, find the two
regression lines :

X=90, Y=70, N= 10, £Xx? = 6360,
3Y? = 2860, XY =3900

911/ Or

() (i) wmwwﬁww: 3

Write the properties of Karl
Pearson’s coefficient of correlation.
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(8)

(i) o wwe r=0.5 Zdxdy=120,
Sdx? =90, o, = 8. AFCIR TR Fefa

F90 5
Given r=0.5, Tdxdy =120,
Tdx? =90, c,=8. Determine the
number of pairs of items.

wee i ©YR ANl X I CE Y I
SRR eI o 4 7
From the data given below, find the
regression equation of Y on X :

X : 35 42 20 50 72 64

YY" =40 48 24 60 84 68

(i)

12. (o) 9T (b) TR T 0
Answer either (a) or (b} :
@ () <O e Ry wiwel o &
o1 7 SR A | 3

What do you mean by seasonal
variation in a time series? Give
examples.

(i) oo T U o1 3 IR b o Al
¥q : 5.

Determine 3-yearly moving average
from the following data :

=Y 2010 2011 2012 2013 2014 2015 2016
Year

e 11018 24 25 20 16 8 2
Price
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(b)

24P/989

(9)

(i) 27 T @ Boe e Seom

FE i
Prove that Fishér’s index number

satisfies factor reversal and time
reversal test.

9]/ Or
(i) aﬁwm%magm{ﬁm%
&1 7 T e o
What do you mean by secular trend
in a time series? Give examples.
(@) =TS fr S om Sfew Pz e
R Ry e
Determine cost of living index
number from the data given below :
Rsrer PR o7
Group Index No. Weight
Rafais] 360 40
Clothing
K] 300 25
Food
T F (o1eE 267 7
Fuel and lighting
qq ore! 120 8
House rent
BT 320 20
Others
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(10 )

(ii) FueN I ANAT AW IR wHw Fay
O 2{T AT @2 WAy 754 6
Using least square method,

determine trend line equation for
the following data :

R : 2006 2007 2008 2009 2010
Year
e : 100 120 140 160 180
Production

* % %
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